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1. Construct the following 3-D ‘birdie’ from multi-link cubes to answer the following questions
a-d:
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a. Find the Volume in u3. /w

L_

b. Determine the Surface area in u?
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¢. How many cubes would be needed to triple the bird two times?
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2. Prove by induction:
n3 — n is divisible by 3 for all natural numbers n.
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3. Find a vector perpendicular to the vectors (3, 2,5) and (2, —3,1) and show that
this vector is perpendicular to ‘one’ of the above vectors.
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4, Construct a unit vector in the direction of the vector (—8,15)
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RICH-PROBLEM SURPRISE!
5. The three squares below are of equal area. If the sum of the areas of the

squares is 432 cm?, what is the area of the triangle? (A, = ibh)




